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- GOVT. MODEL QUESTION PAPER - 2019-20 /|| (el

i Paper
I!T CLASS: X MATHEMATICS 1

|
Time allowed: 3 Hours Max. Marks: 100

Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
Note: This question paper contains four parts.

Note: (i) Answer all the 14 questions. 14x1=14
(ii) Choose the most suitable answer from the given four alternative and write the
option code with the corresponding answer.

1. Ifn(Ax B)=6andA= {1, 3} then n(B) is

1)1 2)2 3)3 4) 4
2. GivenF;=1,F,=3and F,=F ;+F,, then Fgis
1)3 2)5 3)8 4) 11

3. InanA.P, the first term is 1 and the common difference is 4. How many terms of the
A.P must be taken for their sum to be equal to 120?

1)6 2)7 3)8 4)9
4. 1= { (23 ::'l), (3 ’ b)s (45 b)a (51 C)} is 2 ~—-mmm—
1) Identity function 2) one - one function
3) many - one function 4) constant function
5. The number of points of intersection of quadratic polynomial x* + 4x + 4 with the
x-axis is
1)0 2)1 3)0orl 4)2
6. The non-diagonal elements in any unit matrix are ----------
1)0 2)1 3)m 4)n
7. IfAis a2 x 3 matrix and B is a 3 X 4 matrix, how many columns does AB have?
1)3 2)4 3)2 4)5

8. Infigure CP and CQ are tangents to a circle with centre at O. ARB is another tangent
touching the circle at R. If CP =11 cm and BC =7 cm then the length of BR is

i
e~ B
1) 6 cm 2)5cm 3) 8 cm 4) 4 cm
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9. The slope of the line joining (12, 3), (4, a) is § The value of ‘@’ is ---—--
1)1 2)4 3)-5 4)2
10. If x=a tan0O and y = b secO then
2 2 2 2 2 2 2 2
X _ X Yy _ y x Y _
1) =—-—== 2) === 3) += =1 4) ———=0
) a’ )a2 b )a b? )az b
11. Aletter is chosen at random from the letter of the word “PROBABILITY”, Find the
probability that it is not a vowel
4 2) 3) 2 48
1 11 11 11
12. The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will
be
1) 12 cm 2) 10 cm 3) 13 cm 4) 5 cm
13. If the mean and co-efficient of variation of a data are 4 and 87.5% then the standard
deviation is
1)3.5 2)3 3)4.5 4)2.5
14. Variance of first 20 natural numbers is
1) 32.25 2) 44.25 3)33.25 4) 30
....................................... PARY - ) i
Answer any 10 questions. Question No. 28 is compulsory. 10x2=20
15. Define a function.
16. Compute x such that 10* =x (mod 19).
4x* Y 6xz°
17. Simpli
S 2 20 A
18. Pari needs 4 hours to complete the work. His friend Yuvan needs 6 hours to complete the
work. How long will it take to complete if they work together?
19. Find the values of x, y and z from following equation (12 3 = [;: ;}
X
20. What length of ladder is needed to reach a height of 7 f# along the wall when the base of
the ladder 1s 4 fi from the wall ?
21. Prove that Ll cosech + cotd
1—cosé@
22. The radius of a sphere increases by 25 %. Find the percentage increase in its surface area.
23. The Standard Deviation and Mean of a data are 6.5 and 12.5 respectively. Find the
co-efficient of variation.
24. TIff(x) =3 +x, g(x) =x — 4 then check whether fog=go f
25. An organization plans to plant saplings is 25 streets in a town in such a way that one
sapling for the first street, three for the second, nine for the third and so on. How many
saplings are needed to complete the work?
26. Find the 19"'t term of an A. Pis—11,-15,-19, .............
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PART -1V

Answer all the questions. 2x8=16

43. a) PQisachord oflength 8 cm to a circle of radius 5 cm. The tangents at P and Q intersect
at a point T. Find the length of the tangent TP.

(OR)

b) Draw a triangle ABC of base BC = 8 cm, ZA = 60° and the bisector of ZA meets
BC at D such that BD = 6 cm.

44, a) Draw the graph of y = x? + 3x — 4 and hence use it to solve x> + 3x —4 =0.
(OR)
b) A motor boat whose speed is 18 km/hr in still water takes 1 hour more to go to 24 km
upstream than to return downstream to the same spot. Find the speed of the stream.

&%k

ANSWERS | |Govt. Model Question Paper - 2019-20| [{IEITIIEEE 1
S -4 5 S
1. 3) 3 9. 4) 2
2. 4) 11 ¥y X
3 3) 3 10. 1) o 1
4. 3) many one function 7
5.2 1 < O 1l
6. 1) 0 12. 1) 12cm
7. 2) 4 13. 1) 3.5
8. 4) 4cm 14. 3) 33.25

PART - II

15. Arelation f'between two non-empty sets X and Y is called a function from X to Y
if, for each x € X there exist only one y e Y.

such that (x, y) e f
Thatis f= {(x,y)/forallxe X,yeY}

16. 10%>=100=5 (mod 19)
10* = (10%)?% =57 (mod 19)

10* = 25 (mod 19)
10* = 6 (mod 19)
x =06

g e e

X — =
o 72 30y T sy 5y

18. Time required for Pari to complete a work = 4 hours
Time required for Yuvan to complete a work = 6 hours
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35. ABC is a triangle.
right angled at C, C= 2£90°
.. AB’=BC*+AC*? (1)
P and Q are the mid point of AC and BC.
AAQC is a right angle triangle.
AQ*=AC*+QC? -—-—-(2)
ABPC is right angle triangle.
BP?=B(C?+PC? —-(3)
From equation (2) and (3) we get,
AQ*+BP? = AC*+QC*+BC*+PC?
4(AQ* +BP?) = 4(AC*+QC?+BC?+PC?
=4AC? +4QC? + 4BC* +4PC?
=4AC? + (2QC)* + 4BC? + (2(PC))?
P is the midpoint of AC Q is the midpoint of BC
AP = PC BQ = QC
AC = AP+PC BC = BQ+QC=QC+QC
AC = PC+PC=2PC BC = 2QC
substituting in equation (3) we get
4(AQ?*+BP?) = 4AC?*+BC?+4BBC? + AC?
= 5AC?+5BC?
= 5(AC*+BC?
4(AQ*+BP? = 5(AB% by equation (1)

36. Passing through (1, —4) and has intercepts which are in the ratio 2 : 5
X intercept be a =2k
Y intercept be b = 5k y
Equation of straight line = +==1

b
X Y
— =] =N
2k 5k ®
Given passing through the point (1, —4)
M= =1 S |
2k 5k -3 -3
2l = | 5| —
5—8:1 10 10
10k 10x 10y
~3=10k —6 T s
k=_—3 -5—x+2l=1
10 -3 -3
Value of £ in (1) Sx+2y=-3

5x+2y+3=0
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44, b) Speed of the water = x km/hr
Speed of the boat = 18 km / hour
Speed of the boat in the direction of the water = 18 + x
Speed of the boat in the opposite direction of the water = 18 — x
Time taken by the boat to cross 24 km along the direction of the water

_ Distance 24

Speed  18+x

Time taken by the boat to cross 24 km in the opposite direction of the water =

By Given data . \ 18-x
24 _
24 =1:>24[ 11 ]=1:>24k18+x 18+x)=
18—x 18+x 18—x 18+x (18—x)(18+x)
:»24[%]=1:~4sx=324-;3:>x2+48x-324=0
324-x

= x+54)(x-6)=0
= x+54=0 OR x-6=0
x =-54 which is not possible (or) x=6 ... Speed of the water = 6 km/hour

ot ofe oo M %0 2
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Note: (i) Answer all the 14 questions. 14x1=14
(ii) Choose the most suitable answer from the given four alternative and write the
option code with the corresponding answer.

1. 1If {(a, 8), (6, b)} represents an identity function, then the value of a and b are

respectively
1) (6, 8) 2) (8,6) 3)(8,8) 4) (6, 6)
2. 7%= e (mod 100).
1)4 2)3 3)2 4) 1
3. Asystem of three linear equations in three variables is inconsistent if their planes
1) intersect only at a point 2) intersect in a line
3) coincides with each other 4) do not intersect

4. In then adjacent figure ZBAC = 90° and AD L BC then, A

1)BD.CD=BC? 2)AB.AC=B(?
3)BD.CD=AD?> 4)AB.AC=AD?

5. The straight line given by the equation x =11 roP ¢
1) Passing through the origin 2) Passing through the point (0,11)
3) Parallel to X - axis 4) Parallel to Y - axis
6. If (sina + coseca)® + (cosa + seca)® = k + tana + cot?a then the value of k is equal to
)3 2)5 3)7 4)9
7. The total surface area of a cylinder whose radius is 1/3 of its height is
8z’ . 97h* . 567k ; 2 ;
1) 5 sq.units  2) sq. units  3) sq. units  4) 24xh” sq. units
8. Which of the following is incorrect?
DPA)+P(A)=1 2)P(p)=0 HO<PA)=<] 4)P(A)>1
9. The sequence —-3,-3,-3 ... is
1) an A.P. only 2) a G.P only 3) neither A.P nor G.P 4) both A.P and G.P

10. The L.C.M of x* — 2> and (x—a)’is
DE-a%)(x+a) 2)@*-a%)(x—a)® 3)(x-a) (FP+ax+a®) 4) (x+a)® (x*+ax+a®)

11. In n(A)=p, n(B) = q then the total number of relations that exists between A and B is
1) 2P 2) 24 3) 2P* 4) 24

12. If the HCF of 65 and 117 is expressible in the form of 65m — 117 than, the value of m
lls_‘) 1 2)3 3)2 4)4
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13. The sum of all deviations of the data form its mean is
1) always positive  2) always negative  3) zero 4) non-zero integer

14. The angle of elevation and depression are usually measured by a device called
1) Theodolite 2) Kaleidoscope 3) Periscope 4) Telescope

_______________________________________ PART -l e
Answer any 10 questions. Question no. 28 is compulsory. 10%x2=20

15. A man has 532 flower pots. He wants to arrange them in rows such that each row contains
21 flower pots. Find the number of completed rows and how many flower pots are left
over

16. Solve:x*—13x*+42=0

17. If Ais of order p * q and B is order q % r what is the order of AB and BA?

18. Arelation ‘f” is defined by f(x) = x*—2 where, x € {-2,-1, 0, 3}

i) List the elements of f ii) Is fa function?

19. Show that APST ~ A PQR
})

20. A tower stands vertically on the ground. From a point on the ground, which is 48m away
from the foot of the tower, the angle of elevation of the top of the tower 30°. Find the
height of the tower.

21. The volume of a solid right circular cone is 11088 cm?. Ifits height is 24 cm then find the
radius of the cone. " :

22. IfP(A)= %, P(B) = 3 and P(AUB) = 3 then find P(ANB).

23. FindAxBandAxA ifA={m,n};B= ¢

24. Find the middle terms of an A.P. 9, 15, 21, 27, ..., 183.

25. The product of Kumaran’s age (in years) two years ago and his age four years from now is
one more than twice his present age. What is his present age? .

26. Find the equation of a line passing through the point (—4, 3) and having slope -3

27. The standard deviations of 20 observations is /6 . If each observation is multiplied by 3,
find the standard deviation and variance of the resulting observations.

28. An organization plans to plant saplings in 25 streets in a town in such a way that one
sapling for the first street, three for the second, nine for the third and so on. How many
saplings are needed to complete the work?

_______________________________________ PART-IN
Answer any 10 questions. Question no. 42 is compulsory. 10x5=50
29. The function ‘t’ which maps temperature in Celsius (C) into temperature in Fahrenheit (F)

www.Padasalai.Net www.TrbTnpsc.com

is defined by t(C) = F where (F = 9/5 C+32). Find (1) t(0) (ii) t(28) (iii) t(~10) (iv) the value
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CLASS: X MATHEMATICS 3
Time allowed: 3 Hours Max. Marks: 100
........................................ PART -1 .
Note: (i) Answer all the 14 questions. 14x1=14

(ii) Choose the most suitable answer from the given four alternative and write the
option code with the corresponding answer.

1. Iff:A—Bis a bijective function and if n(B) =7, then n(A) is equal to
1)1 2) 49 3) 14 4)7

2. If there are 1024 relations from a set A ={1, 2, 3, 4, 5} to a set B, then the number of
elements in B is

1)2 2)3 3)4 4) 8
311 1 .
3. The next term of the sequence — — — —.,..... I8
it
2 1 1 1
1) — 2)— 3) — 4) —
) 3 ) 24 ) 27 ) 81

4. Which of the following should be added to make x*+ 64 a perfect square?

1) 4x* 2) 8x* 3) —8x° 4) 16x*

. ) x*+8
5. The excluded value of the rational expression Tg
x —2x-

1)8 2)2 3)4 4) 1
6. Graph of a linear equation is a

1) straight line 2) circle 3) parabola 4) hyperbola
7. A Tangent is perpendicular to the radius at the

1) Centre 2) infinity 3) point of contact  4) chord
8. The area of triangle formed by the points(-5, 0), (0, -5 )and (5, 0) is

1) 0 sq.units 2) 5 Sq .units 3) 25 sq.units 4) none of these
9. The point of intersection of 3x —y=4 andx+y=28is

1)@3,5) 2) (2,9 3)G5,3) 4) (4, 4)
10, If 5x =secO and S - tan® then, x* - iz is equal to

X x

1)1 2)5 3)25 4) %

i sin(90-6) " cos(90 - 6)cosd _
tan@ cotd
1) tanB 2) 1 3) -1 4) sin 0
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b) Draw the graph of xy = 24, x, y > 0. Using the graph find,
(1) y when x =3 and (i1) x when y = 6.
44, a) Take a point which is 11cm away from the centre of a circle of radius 4 cm and draw
two tangents to the circle from the point.

(OR)

b) Draw a triangle ABC of base BC = 5.6 cm, /A = 40° and the bisector of /A meets
BC at D such that CD =4 cm.

dk%
ANSWERS PTA Model Question Paper - 2 \Question Paper|
........................................ PART - X
1. 47 8. 3) 25 sq.units
2. 12 9. 1@GB,3)
1 1

3. 3)— =

) > 10. 4) >
4. 4)16x? 11. 2)1
5. 3)4 12. 1)1:2
6. 1) straight line 13. 4)5
7.  3) point of contact

)P 14. § A

2
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PTA MODEL QUESTION PAPER - 3 | ng:t;?"
I> CLASS: X MATHEMATICS 4
[
Time allowed: 3 Hours Max. Marks: 100
........................................ PART - X .
Note: (i) Answer all the 14 questions. 14x1=14

(ii) Choose the most suitable answer from the given four alternative and write the
option code with the corresponding answer.

1. A={a, b, p}, B={2, 3}, C={p, q, 1, s}, then n[(AuU C) x B] is -—---— —

1)8 2) 12 3) 16 4) 20
2. Given f{x) = (-1)" is a function from N to Z. Then the range of f'is

1) {1} 2)N 3){1,-1} 4)Z
3. Thevalueof (1P +2°+33+ .. +15%)-(1+2+3+...+15)is

1) 14200 2) 14280 3) 14400 4) 14520
4. If2+4+6+...+2k=90, then the value of k is

1)8 2)9 3)10 H11

5. A Straight line has equation 8y = 4x + 21, Which of the following is true?
1) The slope is 0.5 and the y intercept is 1.6
2) The slope is 0.5 and the y intercept is 2.6
3) The slope is 5 and the y intercept is 2.6
4) The slop is 5 and y intercept is 1.6

6. GCD of 6x%y, 9x*yz, 12x*y’z is

1) 36xy%z* 2) 36x°y°z 3) 36x°y*Z (4) 3x%y

7. In AABC,DE || BC,AB=3.6 cm,AC=24cmand AD =2.1cm then the length of
AE is
1) 1.05 cm 2)1.2 cm 3)1l.4cm 4) 1.8 cm

8. The slope of the line joining (1, 2, 3), (4, a) is i The value of a is
1)1 2)2 3)4 4) -5

9. (2,1)is the point of intersection of two lines.
Dx+3y—3=0;x—y—7=0 D3Ix+y=3;x+y=7
Nx+y=3;3x+y=7 Hx-y-3=0;3x-y-7=0

10. The value of tan0 cosec’d — tan@ is equal to
1) cot® 2) cot?0 3) sinf 4) sec

11. The total surface area of a hemi-sphere is how much times the square of its radius.
1) 4n 2)3n 3) 2w Hn

12. If the volume of sphere is 36 @ cm’, then its radius is equal to
1)3 cm 2) 2 cm 3)5cm 4) 10 cm
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PTA MODEL QUESTION PAPER - 4

CLASS: X MATHEMATICS 5
[ :
Time allowed: 3 Hours Max. Marks: 100
________________________________________ PART - e
Note: (i) Answer all the 14 questions. 14x1=14

(ii) Choose the most suitable answer from the given four alternative and write the
option code with the corresponding answer.

1. The range of R={(x, x?) | x is a prime number less than 13} is
1) {4, 9, 25, 49, 121} 2) {1,4,9, 25,49, 121}
3)412,3,5.7} 4) {2,3,5,7, 11}

2. LetA={1,2,3,4},B={4,8,9,10}. A function f: A—B given by
f=11,4),(2,8),3,9), (4, 10)} is a

1) Many—one function 2) Identity function
3) One to One function 4) Into function
3. If 6 times of 6™ term of an A.P., is equal to 7 times the 7' term, then the 13™ term of
the A.P. is
Do 2)6 3)7 4) 13
4. The sum of the exponents of prime factors in the prime factorization of 1729 is
1)4 2)3 3IN2 4) 1
5. If a and b are two positive integers where a>0 and b is a factor of a, then HCF of a
and b is .
)b 2)a 3) 3ab 4) r
6. If (x—6) is the HCF of x> — 2x — 24 and x* — kx - 6 then the value of k is
1)8 2) 6 3)5 4)3
7. If a polynomial is a perfect square then its factors will be repeated number of
times.
1) Odd 2) Zero 3) Even 4) None of the above
8. If AABC-is an isosceles triangle with ZC =90°and AC = Scm, then AB is
])5\/5 cm 2) 10 cm 3)2.5cm 4)5cm

9. 'When proving that a quadrilateral is a trapezium ,it is necessary to show
1) Two parallel and two non-parallel sides 2) Two sides are parallel.

3) Opposite sides are parallel 4) All sides are of equal length
10. The equation of a line passing through the origin and perpendicular to the line
Tx-3y+4=0is
)7x-3y+4=0 2)3x—-T7y+4=0 3)7x—-3y=0 $H3x+T7y=0
11. If sin® = cosO and 2tan’ 0 + sin’0 — 1 is equal to
3 3 2 2
1) = 2)—— 3) — 4)——
) 2 ) 2 ) 3 ) 3
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12. In a hollow cylinder, the sum of the external and internal radii is 14 em and the width

is 4 cm. If its height is 20 cm, the volume of the material in it is

1) 567 cm? 2) 3600m cm’ 3) 5600 cm’ 4) 11200x cm®
13. 'Which of the following is incorrect?
)PA)+P(A)=1 2)P(p)=0 3)0=P(A) =1 4)P(A)>1
14. Probability of getting 3 heads or 3 tails in tossing a coin 3 times is
1 1 3 1
1) g 2) Z 3) g 4) E
_______________________________________ PART - e
Answer any 10 questions. Question no. 28 is compulsory. 10 x2 =20
15. Find kif fo f(k) =5 where (k) =2k — 1.

16. LetA={l, 2,3, ..... 100} and R be the relation defined as “is cube of ““ on A. Find the
domain and the range of R.

17. In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each successive
row contains two additional seats than its front row. How many seats are there in the last
row? .

18. InaG.P E,—E, ].,—2, ..... Find f]o.

2
19. Which rational expression should be subtracted from X +6x+8 4 get ~23—
* +8 x’=2x+4
3

20. Determine the quadratic equations , whose sum and products of roots are [_E’_ 1]

21. State Pythagoras Theorem. BE ., 1

22. Tnafigure DE | AC and DC || AP Prove that —— = 3C.

EC cCP
23. Show that the points P(—1.5, 3), Q(6, —2) and R(-3, 4) are collinear.  * T
o4 Provethat 2o A-cos4 _ cosecd-1
cotA+cosAd cosecAd+1
25. The volumes of two cones of same base radius are 3600 cm® and 5040 cm®.
Find the ratio of heights.

26. The range of a set of data is 13.67 and the largest value is 70.08. Find the smallest value.

27. Write the sample space for selecting two balls from a bag containing 6 balls numbered
1 to 6 using tree diagram (with replacement).

28. Find the sum and product of the roots of equation 8x* — 25 =0.
_______________________________________ PART-IN
Answer any 10 questions. Question no. 42 is compulsory. 10x5=50

29. Thedataintheadjacenttable depicts the length ofa woman’s forehand and her corresponding

height, Based on this data, a student finds a relationship between the height (y) and the
forehand length (x) as y = ax + b, where a, b are constants
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32.

33.

34.

35.
36.

37.

38.

39.

40.
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Length x of forehand (in cm) | Height ‘y’ (in inches)
35 56
45 65
50 69.5
55 74

1) Check if this relation is a function 1ii) Find « and b.
iii) Find the height of a woman whose forehand length is 40 cm.
iv) Find the length of forehand of a woman if her height is 53.3 inches.

A function f: [-5, 9] — R is defined as follows.
6x+1 -5<x<2

FO)=15"~1 2=x<6 . Find ()f(7)—f(1) and (i) o~/
3x—4 6<x<9 f@)+7(=2)
Find the sum to n terms of the series 5+ 55+ 555+ .....

A girl is twice as old as her sister. Five years hence, the product of their ages (in years)
will be 375. Find their present ages.

Find the non-zero values of x satisfying the matrix equation

2x 2 8 Sx x*+8 24

x 42 =2
3 x 4 4x 10 6x

Find the values of a and b if the following polynomials are perfect squares
4t — 12 + 37> +bx +a
State and Prove Alternate Segment Theorem.
Find the Equation of a straight line through the point of intersection of the lines
8x-+3y =18, 4x-+5y =9 and bisecting the line segment joining the points (5, —4) and (-7, 6).
A building and a statue are in opposite side of a street from each other 35m apart. From a
point on the roof of building the angle of elevation of the top of statue is 24° and the angle
of depression of base of the statue of 34°. Find the height of the statue.
(tan24° = (0.4452, tan 34° = 0.6745)
A cylindrical bucket, 32 cm high and with radius of base 18 cm, is filled with sand
completely. This bucket is emptied on the ground and a conical heap of sand is formed. If
the height of the conical heap is 24 cm, find the radius and slant height of the heap.
The consumption of number of guava orange on a particular week by a family are given
below.
Number of Guavas 3 5 6 4 3 5 4
Number of Oranges 1 3 7 9 2 6 2
Which fruit is consistently consumed by the family?

In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 1 opted both NCC and
NSS. 8 One of the students is selected at random, Find the probability that

Kindly send me your answer keys to us - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com

29 + 10w MaATHEMATICS

- = - L L L L T T Y

1) The student opted for NCC but not NSS.
i1) The student opted for NSS but not NCC.
ii1) The student opted for exactly one of them.

41. By using slopes, show that the points (1, —4), (2, —3) and (4, —7) form a right angled
triangle.

42. A man saved T 16,500 in ten years. In each year after the first he saved 100 more than he
did in the preceding year. How much did he save the first year?

_______________________________________ PART -1V .
Answer the following. 2%x8=16
43, a) Draw the graph of y = 2x” and hence solve 2x* —x — 6 =0.
(OR)

1
b) Graph the following linear function y = 5% Identify the constant of variation and
verify it with the graph. Also (i) find y when x = 9 (ii) find x when y =7.5.

44. a) Draw a APQR such that PQ = 6.8 cm, vertical angle is 50° and the bisector of the
vertical angle meets the base at D, where PD = 5.2 cm.

(OR)
b) Draw a APQR in which QR = 5cm, ZP = 40° and the median PG from P to QR is
4.4 cm. Find the length of the altitude from P to QR.

wede
ANSWERS PTA Model Question Paper - 4 ‘Question Paper
________________________________________ PART -1 __ .
. 1) {4,9,25,49,121} 8. 1)54/2 em
2. 3) One to One function 9. 1) Two parallel and two non-parallel sides
3. 1) 0 10. 4)3x+7y=0
4. 2) 3 . 2
5. 1) b 2 i
6. 3) 5 12. 4) 11200m cm
7. 3) even 13. 49 P(A)>1
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30
Std 7 X MODEL QUESTION PAPER - 6 Max. marks: 100
Subject: Maths Time : 3 Hrs
PART =1
Note : (1) Answer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
1. Let n(A) = m and n{B) = n then the total number of non-empty relations that can be
defined from A to B is

(A) m" (B) n™ (C)2™" -1 (D) 2™

2. Ifthe HCF of 65and 117is expressible in the form of 65m-117 than ,the value of mis
(A) 4 (B)2 1 D)3

3, If 6times of 6™ term of an A.P., is equal to 7 times the 7% term ,ithen the 13% term of the A.P.
is 1207 (A)0 (B)6 (C)7 (D) 13

4. If(x -6)is the HCF of x* - 2x —24 and x* - kx - 6 then the valve of k is
(A)3 (B)5 (€6 D)8

5. 'The solution of the system x+y—3z =-6, -7y +72=7, 32=0%is
A)x=1ly=2,z=3B)x=-1y=2,2z=3 (Cx=-1,y=-2,2z=3 (D)x=1,y=-2,2=3
6. Ifin AABC, DE || BC, AB =3.6cm, AC=2.4cm and AD=2.lcm then the length of AE is
(A)1.4cm B)l8cm (C)lZ2cm (D)1.05cm
7. The two tangents from an external points P to a circle With center at O Are PA and PB.If
£APB = 70°then the value of £AO0Bis (A)100° (B)110° (C)120° (D) 130°
8. 'The straight line given by the equation x = 11
(A) Parallel to Y — axis (B) Parallel to X -axis
(C) Passing through the origin (D)} Passing through the point (0,11)
9. If the reciprocal of the gradient of a straight line is /3. Then the angle of inclination is
(A)60° (B) 30° (C) 45° D) 90°
10. The electric pole subtends an angle of 30°at point on the same level as its foot. at a
second point “b metres above the first the depression of the foot of the foot of the pole is

60°.The height of the pole (in metres) is equal to
L) ] o) =
(4)V3b ®) 2 © o
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CLASS : X SUBJECT : MATHEMATICS MARKS : 100 TIME : 3 HRS

MODEL QUESTION PAPER - ...7
PART-A

CHOOSE THE CORRECT ANSWER 14X1=14

1.1f g = {(1,1),(2,3),(3,5),(4,7)} isafunction given by g(x) = ax + B then the
valuesof @ and S are (A) (1, 2) (B) (-1, 2) (€) (2, -1) (D) (-1,-2)

2. An A.P. consists of 31 terms. If its 16th term is m, then the sum of all the terms of this

AP.is (A) 16 m (B)62 m — () 31/2m (D)31m

3. The radioactive sample decays and the remaining sample at infinite time is given by
b=1-[2+ =+ o] thenbi (A)O (B)1 (c)= (d)=
=1-[+ 7 Jthenbis........... (A) (c 5 S

4. The solution of (2x -1)2 =9 is equal to
(A)-1,2 (B)-1 (C) 2 (D) None of these
5. Which of the following should be added to make x* + 64 is a perfect square
(A) 4x2 (B) 8x2 (C) -8x2 (D) 16x2
6. For a matrix A, B is called the additive inverse of A if
(A)A+B#B+A (B)B+A=A+B=0 (C)B+ A=A +B #0 (D)A+B=0%#B+A
7.1f AABC is an isosceles triangle with £C=90° and AC =5 cm, then AB is

" (A) 5v2 em (B) 10 cm (C) 2.5¢cm (D)5 cm

8. When proving that a quadrilateral is a trapezium, it is necessary to show
(A) Two parallel and two non-parallel sides. (B) Two sides are parallel.
(C) Opposite sides are parallel. (D) All sides are of equal length.

9. If the points (0,0), (a,0) and (0,b) are collinear, then
(A)a=b (B) a+b (C) ab=0 (D) azb

10. (1 + tan 8 + sec 8)(1 + cotf - cosech) is equal to

(A)-1 (B) O (€)1 (D)2
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11. If the radius of the base of a right circular cylinder is halved keeping the same height,
then the ratioof the volume of the cylinder thus obtained to the volume of original

cylinderis (A)1:6 (B)1:8 (C)1:2 (D)1:4
12. A solid frustum is of height 8 cm. If the radii of its lower and upper ends are

3 cm and 9 cm respectively, then its slant height is:
(a) 15em (b) 12ecm (c) 10cm (d) 17 cm
13. If the standard deviation of x,y,z is p then the standard deviation of

3x+5, 3y+5,3z+5is (A)3p (B)3p+5 (C)9p+15 (D)p+5

14. Which of the following is incorrect?

(A) P(A)+P(A)=1 (B)P(@)=0 (0 <PA) <1 ((DPA>1

PART -B
ANSWER ANY 10 QUESTIONS (QUESTION NUMBER 28 IS COMPULSORY) 10X2=20
15. Let A={1,2,3,4,5},B=N and f:A->B be defined by f(x)=x2.Find the range of f. Identify
the type of function.

16. ‘a’ and ‘b’ are two positive integers such that a?x be = 800. Find ‘@’ and ‘b’.

17. Which term of an A.P. 16, 11, 6, 1,... is -54 ?

18. Find the quotient and remainder whenx3+x2-7x - 3 is divided by x - 3.

19. A has ‘a’ rows and ‘a+3’ columns. B has ‘b’ rows and “17-b" columns,
and if bothproducts AB and BA exist, find a, b?

20. Find the area of the triangle whose vertices are (-3,5), (5,6) and (5,-2).

21. Find the equation of a straight line passing through (5,-3) and (7,- 4).

22. Prove that secf — cosf@ = tanfsinf
23. A tower stands vertically on the ground. From a point on the ground, which is
48 m awayfrom the foot of the tower, the angle of elevation of the top of the
tower is30°. Find the height of thetower.
24. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,

find thevolume of the frustum.

25. If the ratio of radii of two spheres is 4:7, find the ratio of their volumes.
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40. Water is flowing at the rate of 15 km per hour through a pipe of diameter 14 cm

into a rectangular tank which is 50 m long and 44 m wide. Find the time in which

the level of water in the tanks will rise by 21 cm.
41. Two dice are rolled together. Find the probability of getting a doublet or sum of

faces as 4.
42.Given Y, x =99,n=9,Y(x — 10)2 = 79,then find X x? and X(x — x)2.

PART -C

ANSWER THE FOLLOWING QUESTIONS 2X2=16

43, (a) Construct a APQR in which QR =5 cm, £P = 40° and the median PG from P to
QR is 4.4 cm.Find the length of the altitude from P to QR. (OR)

(b) Draw the two tangents from a point which is 10 cm away from the centre of a circle
of radius 5 cm.Also, measure the lengths of the tangents.

44, (a) Draw the graph of y=x2 — 4x + 3 and use it to solve x2 —6x +9 = 0. (OR)
(b) A school announces that for a certain competition, the cash price will be

distributed for all the participants equally as show below

No. of participants(x) 2 4 6 8 10

Amount for each participants in Rs (y) 180 90 60 45 36

(i) Find the constant of variation
(ii) Graph the above and hence, find how much will each participant get if the

number of participants are 12

[+f2 &> Cthe niding a Bicyele to beep goun Bulunce.
goamabféeefmvmg
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Std : “X | 'Max. marks: 100
Subject: Maths MODEL QUESTION PAPER -8  Time - 3 Hrs
MODEL EXAM - 2
PART -1
Note : (1) Answer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.

1. If there are 1024 relations from a set A ={1, 2,3,4,5} to a set B, then the number of
elementsin Bis (A) 3 (B) 2 © 4 (D)8

2. Using Euclids’ division lemma, if the cube of any positive integer is divided by 9 then
the possible remainders are
(A)0,1,8 (B)1,4,8 (©)0,1,3 ™1,3,5

3. An A.P., consists of 31 terms. if its 16" term is m, then th. .n of all the terms of this

AP.is (A)l6m (B)62m (C) 31m (D) % m
4. The square root of % is equal to

OEd =2 ®) 16| 2 O %] o=
5. The solution of (2x — 1)*=91s equal to

(A)-1 (B) 2 (C)-1,2 (D)None of these
6. ALMN - £2L=60° , £M=50°, If ALMN ~ APQR then the value of, ZR is

(A) 40° (B) 70° (C) 30° (D) 110°

7. A Tangent is perpendicular to the radius at then

(A)Centre (B)point of contact (C) Infinity (D) Chord
8. If (5,7), (3,p) and (6,6) are collinear, then the value of , p is

(A)3 (B) 6 ©9 (D) 12
9. When proving that a quadrilateral is a parallelogram by using slopes you must find .

(A)The slopes of two sides (B) The slopes of two pair of opposite sides
(C) The lengths of all sides (D) Both the lengths and slopes of two sides

10. The electric pole subtends an angle of 30°at point on the same level as its foot. at a
second point “b metres above the first ,the depression of the foot of the foot of the pole is
60°.The height of the pole (in metres) is equal to

b b b
(A)V3b ®) 3 ©)3 ™) -
11. A tower is 60°m height. its shadow is x metres shorter when the sun s”altitude is 45°then

when it has been 30°, then x is equal to

(A) 41.92 m (B)43.92m (C)43m  (D)45.6m
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12.

13.

14.

U

10.

11.

12,
13.
14,

Two persons are standing x”” metres apart form each other and the height of the first
person is double that of other . if form the middle point of the line joining their feet an

observer find the angular elevation of their tops to be complementary, then the height of

the shorter person ( in metres) is (A) v2x (B) % (C) % (D)2x

The Pre-image of 2 under the function f = {(0,1), (2,2), (3,2), (5,8), (4,8)} are

(A)3and5 (B) 0 and 2 (C)2and 3 (D) 5 and 4

If a Polynomial is a perfect square then its factors will be repeated -—----——- -- number of times

(A)Odd (B) Zero (C) Even (D) None of the above
PART — 11

Answer any 10 questions. Question no. 28 is compulsory. 10x2=20

If B x A={(-2, 3), (-2, 4), (0,3), (0,4), (3,3), (3,4)} find A and B

If the Highest Common factor of 210 and 55 is expressible in the form 55x - 325, find x.
If3+k, 18—k, Sk + lare in AP, then find k.

Find the L.C.M. of x3 — a® and (x — a)?

Determine the nature of roots for the following quadratic equation x-x-20=0

What length of ladder is needed to reach a height of 7ft along the wall when the base of
the ladder is 4 ft from the wall? Round off your answer to the next tenth place?

Find the length of the tangent drawn from a point whose distance from the centre of a
circle is Scm and radius of the circle is 3 cm.

What is the probability of drawing either a king or a queen in a single draw from a well
shuffled pack of 52 cards?

Show that the points (-2, 5), (6, -1) and (2,2) are collinear.

From the top of a tree of height 13m the angle of elevation and depression of the top and
bottom of another tree are 45° and 30° respectively. Find the height of the second tree.

(V3 = 1.732)
From the top of a rock 50 v/3 m high, the angle of depression of a car on the ground is
observed to be 30°. Find the distance of the car from the rock
Find the diameter of a sphere whose surface area is 154 m”
If the ratio of radii of two spheres is 4:7, find the ration of their volumes.
Find the intercepts made by the line 3x — 2y — 6 = 0 on the coordinate axes
PART —III

Answer any 10 questions. Question no. 42 is compulsory. 10x5=50

Represent the given relation by (a) an arrow diagram (b) a graph and (c) a set in roster
form, wherever possible. {(x,y)ly=x+3, x.y are natural numbers< 10}
In an A.P. if m"™ term is n and nth term is m, then find the p'“h term

Find x, y, z, given that the numbers x, 10, y, 24, z are in A.P.
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SUBJECT: MATHS Mark: 100
Std: 10 MODEL QUES TION PAPER "2 Time: 3 hrs
Part-A

Choose the correct Answer:- 14x1=14
1.A= {a,b,p},B = {2,3},C = {p,q,r,s} then n[(AUC) X B]is

(A) 8 (B) 20 (©12 (D)16
2. The range of the relation R = {(x,x?) |x is a prime number less than 13} is

(A)2,3,5,7} (B){2,3,5,7,11} (C){4,9,25,49,121} (D) {1,4,9,25,49,121}

3. The sum of the exponents of the prime factors in the prime factorization of 1729 is
(A)1 B2 ©)3 D4

4. The first term of an A.P. whose 8"and 12" terms are 39 and 59 respectively is

(A)S5 (B) 6 (C) 4 (D)3

5.1f (x — 6)isthe HCFof x2— 2x — 24 andx? — kx - 6 then the value of k is

(A)3 (B)5 €6 D)8 : i
2 2
6.1 ax? ++ bx + ¢ = 0 has equal roots, thenc isequal (A) 3= (B)== (C) - 2= (D) - =

7.1fin AABC ,DE || BC.AB=3.6 cm, AC =2.4 cm and AD = 2.1 cm then the length of AE is
(A)14cm (B) 1.8 cm (C)1.2cm (D) 1.05 cm
8. Two poles of heights 6 m and 11 m stand vertically on a plane ground. If the distance between their feet
is 12 m, what is the distance between their tops? (A) 13 m B)l4dm (O)15m (D) 12.8 m
9. The angle of inclination of a straight line parallel to x-axis is equal to (A) 0° (B) 60° (C) 45° (D) 90°
10. The slope of the line which is perpendicular to a line joining the points (0,0) and (-8,8) is
(A)-1 B)1 © § (D) -8
11. If the ratio of the height of a tower and the length of its shadow isv/3 : 1, then the angle of
elevation of the sun has measure (4)45° (B)30° (C€)90° (D) 60°
12. If the radius of the base of a cone is tripled and the height is doubled then the  volume is
(A) made 6 times (B) made 18 times (C) made 12 times (D) unchanged
13. Radius and height of a right circular cone and that of a right circular cylinder are respectively, equal. If the
volume of the cylinder is 120 ¢m? , then the volume of the cone is equal to
(A)1200cm®  (B)360cm?® (C)40cm? (D) 90cm?
14. Which of the following is incorrect?
(A) P(A)> 1 (B) 0SP(A)<1  (C)P(®)=0 (D) P(A)+P(A)=1
Part—B 10x2=20
i) Answer any 10 Questions. ii) Question No 28 is Compulsory.
15.fBx A = {(=2,3),(—2,4),(0,3),(0,4)(3,3), (3,4)} then find A and B.
16. A Relation R is given by the set {(x,y) /¥y = x + 3,x € {0,1,2,3,4,5}}. Determine its domain and
range.
17. If the Highest Common Factor of 210 and 55 is expressible in the form 55x — 325, find x
18. The general term of a sequence is defined as
n= {nz(‘n HImEN .15 = Find the eleventh and eighteenth terms.
n“+1;neN iseven

x2+6x+8 to et
x3+8 77 x2-2x+4
20. 1f the difference between the roots of the equation x? — 13x + k is 17 find k.

21.1f AABC ~ ADEF such that area of AABC is 9cm? and the area of ADEF is 16cm? and BC = 2.1 cm.
Find the length of EF

22.Find the value of ‘a’ for which the given points are collinear. (2, 3), (4,a) and (6,-3)

23. Find the slope of a line joining the given points (—6,1) and (-3,2)

19. Which rational expression should be subtracted from
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CLASS: X SUBJECT : MATHEMATICS MARKS : 100 TIME : 3 HRS

MODEL QUESTION PAPER -I0
PART - A

CHOOSE THE CORRECT ANSWER 14X1=14
1.1ff(x) =x?—xthenf(x+1)—f(x—1)is (a)0 (b) 4x (c) 4x +2 (d) 4x -2

2. Inan A.P., the first term is 1 and the common difference is 4. How many terms of the A.P.
must be taken for their sum to be equal to 120? (a)8 (b) 9 (c)7 (d) 6

3. Using Euclid’s division lemma, if the cube of any positive integer is divided by 9 then the possible
remaindersare (a) 1,3,5(b)1,4,8 (c)o0,1,3 (d)o0,1,8

4. 1f (x - 6) isthe HCF of x> —2x - 24 and x? - kx -6 then the value of k is

(a) 8 (b) 6 (c)5 (d) 3
(&4 (&
5. The value of X in (x + 2) + 2(x - 1) = 4x- 3
(a) 2 (b) 3 (c) -2 (d) -3
6. If Aisa 2 X 3 matrix and B is a 3 X 4 matrix, how many columns does AB have
(a)3 {b) 4 (c) 2 (d)5

7.InALMN, £L=60° M =50°. If ALMN ~ APQR then the value of 4R is
(a) 30° (b) 40° (c) 70° (d) 110°
8.Ina AABC, AD is the bisector of ZBAC . If AB=8cm, BD =6 cm and DC =3 cm.
The length ofthe side AC is (a)3cm (b)4 cm (c) 6 cm (d)8cm
9. The equation of a line passing through the origin and perpendicular to the line 7x -3y +4 =0is
(@)7x-3y+4=0 (b)3x-7y+4=0 (c)7x-3y=0 (d)3x+7y=0
10. The point of intersection of 3x -=4 and x +y =8 s
(@) (5. 3) (b) (2, 4) (c) (3,5) (d) (4.4)
11.(cos? 8 -1)(cot? B+ 1) +1 =
(a)1 (b) -1 (c) 2 (d) o
12, A spherical ball of radius 1 units is melted to make 8 new identical balls each of radius 72 units.
Then r1: 12 is  (a)1l:4 (b)4:1 (c)1:2 (d)z2:1
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MODEL QUESTION PAPER -11
STD: X MARK:100
SUBJECT: MATHEMATICS TIME: 3:00hrs
PART-I
|.CHOOSE THE CORRECT ANSWER: 14x1=14
1. Ifn (AxB)=6and A = {1, 3} then n(B) is
(D1 (2)2 (3)3 )6
2. IfA={1,2},B={1,2,3,4},C={5,6} and D = {5, 6, 7, 8} then state which
of the following statement is true ?
(H(AxC)c(BxD) 2)(BxD)c(AxC)
B)(AxB)c(AxD) 4 (DxA) c(BxA)
3. Euclid's division lemma states that for positive intgers a and b, there exist
unique integers ¢ and r such that a = bg +r, where r must satisfy.
()1<r<b (2)0<r<b (3)0<r<b (4)0<r=<b
4. GivenFy=1,F,=3and F, =F,; + F.» then F5 is
(1)3 2)5 (3) 8 4) 11
5. Which of the following should be added to make x*+64 a perfect square
(1) 4x* (2) 16x* (3) 8x° (4) - 8x°
6. If the roots of the equation g x* + p°x +1” = 0 are the squares of the roots of the
equation qx* + px +r=0, thenq, p,rarein
(1) AP 2) G.P (3) Both A.P and G.P  (4) none of these

7. The slope of the line which is perpendicular to a line joining the points (0,0) and (-8,8) is
(H-1 @)1 (3)§ (4)-8

8. If slope of the line PQ is % then slope of the perpendicular bisector of PQ is

(1)3 @3 @z 4)0
9. If AABC is an isosceles triangle with £2C =90° and AC = 5 c¢m, then AB is
(1)2.5cm (2) 5cm (3) 10 cm (4)52cm
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A capsule 1s 1 the shape of a cylinder with two hemisphere stuck-i;:-a-é-a-él-l of its ends. If
the length of the entire capsule is12 mm and the diameter of the capsule 1s3 mm, how
much medicine it can hold?
In a game, the entry fee is ¥150. The game consists of tossing a coin 3 times.Dhana
bought a ticket for entry . If one or two heads show, she gets her entry fee back. If she
throws 3 heads, she receives double the entry fees. Otherwise she will lose. Find the
probability that she (i) gets double entry fee (ii) just gets her entry fee (iii) loses the entry
fee.
The angle of elevation of the top of a cell phone tower from the foot of a high apartment
15 60° and the angle of depression of the foot of the tower from the top of the apartment
is 30°, If the height of the apartment is 50 m, find the height of the cell phone tower.
According to radiations control norms, the minimum height of a cell phone tower should
be 120 m. State if the height of the above mentioned cell phone tower meets the radiation

NOorims.

PART-IV
IV. ANSWER BOTH QUESTIONS. 2X8=16.
a) Construct a APQR such that QR = 6.5cm, £P = 60and the altitude from P
to QR is of length 4.5 cm.
(OR)
b) Draw a circle of radius 4 cm. At a point L on it draw a tangent to the circle using the
alternate segment.
a) Draw the graph of y = x? — 4 and hence solve x? — x — 12 = 0.
(OR)
b) Draw the graph of y = (x — 1) (x + 3) and hence solve x* — x — 6 = 0.

QUEEN OF SCIENCE IS
MATHEMATICS
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14. Which of the following is incorrect?
(a) P(4)>1 (b) 0= P(4) <1 (c) P(=)=0 (d) P(A)+P( 1)=1

Part-B 10x2=20
Answer any 10 questions and Qn No. 28 is compulsory

15. I Bx_A = {(-2, 3),(-2, 4),(0, 3),(0, 4),(3, 3),(3, 4)} find 4 and B.
16. ‘a’ and ‘b’ are two positive integers such that g® xb?= 800. Find ‘a’ and ‘b’.
17. If 3 +k, 18 -k, 5k +1 are in A.P. then find £.

18. Solve: 2 —3x-2=0

19. Simplify i—’;j + S
20. The perimeters of two similar triangles ABC and POR are respectively 36 cm and 24 cm. If PQ =10
cm, find 4B.
21. A man goes 18 m due east and then 24 m due north. Find the distance of his current position
from the starting point?
22. The line p passes through the points (3,-2) , (12, 4) and the line ¢ passes through the points (6,-2) and
(12,2) . Is p parallel to g ?
23. A tower stands vertically on the ground. From a point on the ground, which is 48 m away from the
foot of the tower, the angle of elevation of the top of the tower is 30° . Find the height of the tower
24, Find the angle of elevation of the top of a tower from a point on the ground, which is 30 m away
from the foot of a tower of height 10 Y3 m.
25. The slant height of a frustum of a cone is 5 cm and the radii of its ends are 4 cm and 1 cm. Find its curved
surface area
26. The volume of a cylindrical water tank is 1.078 x 106 litres. If the diameter of the tank is 7 m, find its
height.
27. A game of chance consists of spinning an arrow which is equally likely to come to rest pointing to one of
the numbers 1, 2, 3, ...12. What is the probability that it will point to (i) 7 (ii) a prime number
28. Find the equations of the lines, whose sum and product of intercepts are 1 and —6 respectively.

Part-C 10x5=50

Answer any 10 questions and Qn No. 42 is compulsory

29, Let 4 = The set of all natural numbers less than 8,
B =The set of all prime numbers less than 8, C = The set of even prime number.
Verify that (i) (AN B)xC = (AxC) N (BxC) (i) A%(B — C) = (AxB)—~(4*C)

30. In an A.P., sum of four consecutive terms is 28 and their sum of their squares is 276. Find the four
numbers

31. Find the GCD of the polynomials x *+x* —x +2 and 2x *—5x*+ 5x -3 .

32. £ 9x* + 12x >+ 28x? + ax + b is a perfect square, find the values of @ and b.

33. If o and P, are the roots of the equation 2x>— x —1 = 0 , then form the equation whose roots are
(i)i,% (i) a?B,ap? (i) 2a+ B,a+2B

34.. State and prove Pythagoras theorem

35. Find the area of the quadrilateral formed by the points (-9, 0), (-8, 6), (-1, -2) and (-6, -3)

36. A line makes positive intercepts on coordinate axes whose sum is 7 and it passes through (-3, 8) .
Find its equation.

37. From the top of a 12 m high building, the angle of elevation of the top of a cable tower is 60° and the angle

Kindly send me your answer keys to us - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com

53
TIME: 3.00 HOURS MODEL @ES TION PAPER"13 MAX.MARKS : 100

MATHEMATICS

Instructions :

(1) Check the question paper far the fairness of printing. If there is any lack of fairness, inform the hall supervisor
immediately.

(2) Use Blue or Black pen to write and pencil to draw and underline.

Note : This question paper contains four parts.

PART -1
Note : Answer all the questions. Choose the most suitable answer with the corresponding answer code. (14 x 1 =14 Marks)

1. If Aisa point on the y- axis whose ordinate is 8 and B is a point on the X axis whose abscissae is 5 then the equation
of the line AB is
(A) 8x+5y=40 (B)8x-5y=40 (C) x=8 (D) y=5
2. Kamalam went to play a lucky draw contest. 135 tickets of the lucky draw were sold. If the probability of kamalam
winning is 1/9, then the number of tickets bought by kamalam is
(A) 5(B)10(C) 15 (D) 20
3. Ifn(A)=p,n(B)=q then the total number of relations that exist between A4 and B is
(A) 2°(B)2%(c)2”*(D) 2™
4, A shuttle cock used for playing badminton has the shape of the combination of
(A) acylinder and a sphere (C}) a hemisphere and a cone
(B) asphere and a cone (D} frustum of a cone and a hemisphere
5. Using Euclid’s division lemma, if the cube of any positive integer is divided by 9 then the possible remainders are
(A) 0,1,8(B)1,4,8(C)0,1,3(D)1,3,5
6. If (x-6)isthe HCF of x2-2x-24 and x2-kx-6 then the value of k is
(A) 3(B)5(C)6(D)8
7. The solution of x’~25=0 is
(A} No real roots (B) real and equal roots (C) Real and unequal roots (D) imaginary roots
8. InALMN, £L=60°, £M=50° If ALMN~APQR then the value of £R is
(A) 40°(B)70° (C) 30° (D) 110°
9. Ifthe ratio of the height of a tower and the length of its shadow is v3:1, then the angle of elevation of the sun has
measure
(A) 45°(B)30°(C)90° (D) 60°
10. The total surface area of a hemi-sphere is how many times the square of its radius ?
(A) m{(B)4m(C)3m(D)2™
11. The angle of elevation and depression are usually measured by a device called
(A) Clinometer (B) Kaleidoscope (C) Periscope (D) Theodolite
12. Given F1=1,F2=3 and Fn=Fn-1+Fn-2 then F5 is
(A) 3(B)5(C) 8 (D)11
13. Graph of a linear equationisa
(A) Straight line (B) circle (C) parabola (D) hyperbola
14. Ina A ABC,AD is the bisector of £BAC. If AB=8 cm,BD=6 cm and DC=3 cm. The length of the side AC is
(A) 6em (B)4cm (C)3cm (D) 8 cm

PART - Il
Note : Answer any ten guestions. Question No.28 is compulsory. (10 x 2 = 20 Marks)

15. A Relation R is given by the set {(x,y)/y=x2+3, x€{0,1,2,3,4,5}}. Determine its domain and range
16. Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are (-4,-2),(-3,k),(3,-2) and (2,3)
17. Find the number of terms in the A.P. 3, 6, 9, 12,..., 111.
18. The ratio of the volumes of two cones is 2:3. Find the ratio of their radii if the height of second cone is double the
height of the first.
19. Find the slope of a line joining the given points.
(i) (14,10) and (14,-6)
(i) (3,v3) and origin
20. Let 4=(1,2,5} and B={x|x is a prime number less than 10}. Find AxB and BxA.
21. Find the HCF of 396, 504, 636.
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arks: 100 MODEL QUESTION PAPER- 14 Time:3hrs
ID-ro __________ o Mathematics
I. Choose the best answer:- 14x1=14
1. Given f (x) = (-1)*is function from N to Z. Then the range of fis
1){1} (2)N (3){1,-1} Dz
2. Letn(A) =m and n(B) = n then the total number of non-empty relations
that can be defined from A to Bis
(1ym" (2) n™ (3)2™ -1 (4) 2™
3. 7*% =__ (mod100)
1 (2) 2 (3)3 (4) 4
4. Ifthesequence t4,t,,t;,. arein A.P. then the sequence tg, t,,tg, ... is
(1) a Geometric Progression  (2) an Arithmetic Progression
(3) neither an Arithmetic Progression nor a Geometric Progression
(4) a constant sequence
5. Which of the following should be added to make x* + 64 a perfect square
(1)4x> (2)16x? (3)8x> (4) — 8x?
6. IfAisa 2 X3 matrixand Bisa 3 X 4 matrix, how many columns does
AB have
(1)3 (2) 4 (3)2 (4) 5
7. Inthe adjacent figure ZBAC = 90°and AD 1 BC then )
(1)BD.CD = BC? (2)AB.AC = BC? -
(3)BD.CD = AD? (4)AB.AC = AD?
8. - ndiculs ;

If slope of the line PQ is 7 then the slope of the perpendicular bisector of
PQis

(1)V3 @) -v3 3 = (4)0
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10.

11.

12.

13.

14.

IL.

15.
16.

17.

18.
19.

20.

acot @+ bcosecd =p and b cot 0 + a cosec 8 = q then p? — g? is
equal to

(1) a? — b? (2) b2 — a? (3) a® + b? (4)b-a

If the radius of the base of a right circular cylinder is halved keeping the
same height, then the ratio of the volume of the cylinder thus obtained to
the volume of original cylinder is

(1)1:2 (2)1:4 (3)1:6 (4)1:8

The volume (in cm?®) of the greatest sphere that can be cut off from a
cylindrical log of wood of base radius 1 cm and height 5 cm is

(1) gn (2) %n (3) 57 (4) i—“::

The top of two poles of height 18.5 m and 7 m are connected by a wire. If
the wire makes an angle of measure 30 ° with horizontal, then the length

of the wire is
(1)23m (2)18 m (3) 28 m (4) 25.5m

The standard deviation of a data is 3. If each value is multiplied by 5 then
the new variance is

(1) 3 (2) 15 (3) 5 (4) 225

The probability of getting a job for a person is g If the probability of

not getting the job is % then the value of x is

(1) 2 (2)1 (3)3 (4) 1.5
Answer anv 10 questions. (Q.NO : 28 compulsor 10x2 =20

Define "Cartesian Product’.

A function f is defined by f{x) = 3 — 2x. Find x such that f (x%) = (f(x))2

If the first term of an infinite G.P. is 8 and its sum to infinity is % then find

the common ratio.

(&5

- - 4x x+1
Simplify : = E
Solve by completing square method: x2-3x-2=0 - B
-
In the figure £A=2CED ,then find the value of x. y P EE’
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36.

37.

38.

39.

40.

41.

42.

V.

43.

44,

A lift in a building of height 90 feet with transparent glass walls is
descending from the top of the building. At the top of the building, the
angle of depression to a fountain in the garden is 60°. Two minutes later,
the angle of depression reduces to 30°. If the fountain is 30+/3 feet from
the entrance of the lift, find the speed of the lift which is descending.

As shown in the figure a cylinder with diameter i

_——D

7cm is cut out from a cubical solid of side 7cm.

Find the surface area of the remaining solid.

The time taken by 50 students to complete a100m
race is given below. Find its variance.

e e 8595 9.5-105 105-11.5 11.5-12.5 12.5-13.5

| Number/ofistudents| [l 8 17 10 9
If two dice are rolled, then find the probability of getting the product of
face value 6 or the difference of face value 5.

A solid sphere of radius 6¢cm is melted into a hollow cylinder of uniform
thickness. If the external radius of the base of the cylinder is 5cm and its
height is 32cm, then find the thickness of the cylinder.

Rekha has 15 square colour papers of sizes 10cm, 11cm, 12cm,..., 24cm.
How much area can be decorated with these colour papers?

Find the image of the point (3,8) with respect to the line
x + 3y = 7 assuming the line to be a plane mirror.

Answer both questions 2x8=16
a) Draw the graph of y = x2- 5x - 6 and hence solve x2- 5x - 14=0. (or)

b) The number of seats in a row is equal to the total number of rows in a
hall. The total number of seats in the hall will increase by 375 if the
number of rows is doubled and the number of seats in each row is
reduced by 5. Find the number of rows in the hall at the beginning.

a) Construct a APQR in which QR=5cm, LP=40° and the median PG
from P to QR is 4.4cm. Find the length of the altitude from P to QR. (or)

b) In the fig, O is the centre of the circle with radius 5cm.
T is a point such that 0T=13cm and OT intersects the
circle E, if AB is the tangent to the circle at E,

find the length of AB.
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MODEL QUESTION PAPER = 15

Class:X Mathematics Marks:100
Date: Time:3.00hrs
I choose the correct Answer 14x1=14
(1) If fA—B : is a bijective function and if n (B) =7 , then n (4) is equal to

(1)7 (2) 49 (3)1 (4)14
() Iff of(k)=5 where, f(k)=2k—1 Find k.

(1)0 21 (3)2 (4)4

(3) The first term of an arithmetic progression is unity and the common difference is 4.
Which of the following will be a term of this A.P.

(1) 4551 (2) 10091 (3) 7881 (4) 13531
(4) The sum of the exponents of the prime factors in the prime factorization of 1729 is
(D1 (2)2 (3)3 44
(5) In the expression: x:fl_l , the excluded value is
(1) x*+1 (2) no real (3) zero 4)x
(6) When proving that a quadrilateral is a trapezium, it is necessary to show
(1)Two sides are parallel. (2)Two parallel and two non-parallel sides.

(3)Opposite sides are parallel. (4)All sides are of equal length.
(7) If number of columns and rows are not equal in a matrix then it is said to be a
(1)diagonal matrix (2) rectangular matrix (3) square matrix (4) identity matrix
(8) A tower is 60 m heigh. Its shadow is x metres shorter when the sun’s altitude is 45° than
when it has been 30° , then x is equal to

(1)41.92m (2)43.92m (3)43m (4)45.6 m

(9) A shuttle cock used for playing badminton has the shape of the combination of
(1a cylinder and a sphere (2) a hemisphere and a cone
(3)a sphere and a cone (4) frustum of a cone and a hemisphere

(10) Two poles of heights 6 m and 11 m stand vertically on a plane ground. If the
distance between their feet is 12 m, what is the distance between their tops?
(1)13m (2) 14m 3)15m (4) 12.8 m

(11)  The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will be

(1) 12 em (2) 10 ecm (3) 13 cm (4)5cm

secA  cosecA _

(12) -

sinAd cosA
(1) cosA (2)sinA (3)cot A (4) tan A
(13) If 4 and B are mutually exclusive events then P (ANB)=
(1)0 )1 (3)0.1 OF
(14) The sum of all deviations of the data from its mean is
(1) Always positive (2) always negative (3)zero  (4) non-zero integer.

Kindly send me your answer keys to us - padasalai.net@gmail.com



https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www. TrbTnpsc.com 6. 1

(1)

(32)

(33)

(34)

(35)

(36)
G7)

(38)

(39)

(40)

(41)

(42)

Find the total area of 14 squares whose sides are 11cm. 12cm. ---. 24am.
respectively,

The product of three consecutive terms of a Geometric Progression is 343 and their
sum is 93—1 Find the three terms
The sum of the digits of a three-digit number is 11. If the digits are reversed, the new

number is 46 more than five times the former number. If the hundreds digit plus twice
the tens digit is equal to the units digit, then find the original three digit number
If 9x*+12x3+28x>+ax+ b is a perfect square, find the values of a and b.

0 —q 2 -2
], B=[ ﬁ ,C=J 2] and if BA = ¢2, find pand ¢

10 2

Gi 4 p 0
wen 4= 0 9

State and prove Basic Proportionality Theorem

_P?—1
P241

If cosect +cotd=P, then prove that cosf

A toy is in the shape of a cylinder surmounted by a hemisphere. The height of the toy
is 25 cm. Find the total surface area of the toy if its common diameter is 12 cm.

A conical flask is full of water. The flask has base radius » units and height / units,
the water poured into a cylindrical flask of base radius xr units. Find the height of
water in the cylindrical flask

The following table shows the marks obtained by 48 students in a Quiz competition
i Mathematies. Caleulate the standard deviation,

0 7 8 9 10 1| 12
fi.‘:'-f_‘-'z'.i!'f'::‘.l'_l"_;', 3 o 9 13 8 3 4

Two dice are rolled once. Find the probability of getting an even number on the first
die or a total of face sum 8

Prove analytically that the line segment joining the mid-points of two sides of a
triangle is parallel to the third side and is equal to half of its length.
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X - MATHEMATICS

Time * 3 Hrs -+ 15 Minutes Maximum Marks : 100
MODEL QUESTION PAPER . 16

PART - A 14X1=14

Answer All The Questions :

]|

oo

o

13

10.

11.

12,

14,

If f is an identity function, then the value of (1) — 2f(2) + f(3) is

a) 0 b) =3 c)1 d) -1
CIEf)=x+1 1'henf(f(f(y + 2))) is

a) y+3 b)y-+5 cy+7 d)y+9

Sum of first n terms of the series V2 + V8 + /18 + - is

a) n(n:—l) b) V'.T_f G) n(:l{;l) d) 1

A boy save Rs.1 on the first day, Rs.2 on the second day, Rs.4 on the third day and so on. How much
did the boy will save up to 20 days?

a) 219 +1 b) 219 -1 c) 220 -1 d) 221 —
The square root of 4m? — 24m + 36 is
a) 4(m —3) b) 2(m —3) c) 2m—3)? dm-3
1
If[4 3 2] l—zl =6, then x is
%
a) 4 b) 3 c) 2 d 1
A line which intersects a circle at two distinct points is called
a) Point of contact b) Secant c¢) Diameter d) Tangent
If the points (0,0), (a, 0) and (0, b) are collinear, then
a)a=bh b) a+b c)yab=0 d)a#b

In a right angled triangle ABC, right angled at B , if the side BC is parallel to X-axis, then slope of
ABis

a) V3 b) = o) 1 d) not defined

A ladder of length 14m just reaches the top of a wall. If the ladder makes an angle 60° with the
horizontal, then the height of the wall is

a) 14/3m b) 28V3m c) 743m d) 35V3m

The curved surface area of a right circular cone of height 15 cm and base diameter 16 cm is

a) 60rccm?® b) 68mwcm? c) 120mem? d) 136mcm?

A semicircular thin sheet of a metal of diameter 28 ¢m is bent and an open conical cup is made.
What is the capacity of the cup?

[1000]\"— cm?® b) [300]V3cm? ¢) ﬂ] Viem? d) ﬂ] i

. If the observations 1,2,3, ... 50 have the variance V; and the observations 51,52,53, ... 100 have the

. v .
variance Vthen v—’ is
2

a) 0 b) 1 g) 2 d) 3
When three coins are tossed, the probability of getting the same face on all the three coins is
& b) L = by
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. _(1 2 _(0 3 =1 BN _
35.1F A = (3 4),3 = (_1 5) c=( N 3), prove that A(BC) = (AB)C.
36. The hypotenuse of a right triangle is 6 m more than twice of the shortest side. If the third side is 2 m

less than the hypotenuse, find the sides of the triangle.

37. The area of a triangle is 5sq.units. Two of its vertices are (2,1) and (3, - 2). The third vertex is (x, y)
where y = x + 3 Find the coordinates of the third vertex.
38. As observed from the top of a 60m high light house from the sea level, the angle of depression of

two ships are 28° and 45°. If one ship is exactly behind the other on the same side of the lighthouse,
find the distance between the two ships. (tan 28° = 0.5317).

39. A shuttle cock used for playing badminton has the shape of a frustum of a cone is mounted on a
hemisphere. The diameter of the frustum are 5cm and 2em, The height of the entire shuttle cock is
7cm. Find its external surface area.

40, A cylindrical bucket 32 cm high and with radius of base 18 cm, is filled with sand completely. This
bucket is emptied on the ground and a conical heap of sand is formed. If the height of the conical
heap is 24 cm, find the radius and slant height of the heap.

41. The temperature of two cities 4 and B in a winter season are given below.

Temperature of city A (in degree Celsius ) 18 20 22 24 26

Temperature of city B (in degree Celsius ) 11 14 15 17 18
Find which city is more consistent in temperature changes?

42, A coin is tossed thrice. Find the probability of getting exactly two heads or at least one tail or two
consecutive heads.

PART -D 2x8=16
Answer All The Questions :

43. a) Construct a APQR in which PQ = 8 cm, 4R = 60° and the median RG from R to PQ is 5.8 cm.

Find the length of the altitude from R to PQ. (OR)
b) Take a point which is 11 cm away from the centre of a radius 4 cm and draw two tangents to
the circle from the point.

44, a) Draw the graph of y = 2x? and hence solve 2x> —x—6=0.  (OR)
b) Draw the graph of y = x%2 + x — 2 and use ittosolvex?2 + x — 2 = 0.

- - - —

E;
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PUBLIC MODEL QUESTION PAPER -17
MATHEMATICS TOTAL MARKS: 100
Std-X TIME: 2.30 HRS
SECTION - A
Choose the best answer : 14x1=14
If f: A — B is a bijective function and if n(B)=7, then n(A) is equal to
1)7 2) 49 )} B R L
The range of the relation R = {(x,x?)/ x is a prime number less than 13} is
1) {2,3,5,7} 2) {2,3,5,7,11}
3) {4,9,25,49,121} 4) {1,4,9,25,49,121}

An A.P consists of 31 terms. If 1ts 16" term is m, then the sum of all the terms of this
A.Pis :
31

1) 16m 2)62m - 3) 31m HZm

The next term of the sequence i E l = —_..
1 { 16'8" 12 18 1
1) Py 2) = 3) = 4) o
Which of the following should be added to make x* + 64 a perfect square
1) 4x? 2) 16x? 3) 8x2 4) —8x?
If A isa 2 X 3 matrix and B is a 3 X 4 matrix, how many columns does AB have
1)3 2)4 3)2 4)5
How many tangents can be drawn to a circle from an exterior point?
1) one 2) two 3) infinite 4) zero
The area of the triangle formed by the points (—5,0), (0,-5), (5,0) is
1) 0 sq.units 2) 25 sq.units 3) 5 sq.units 4) none of these
(2,1) is the point of intersection of two lines
DDx-y—-3=0;3x—y—-7=0 Dx+y=3;3x+y=7
3) 3x+y=3;x+y=7 Hx+3y—-3=0;x—y—7=0

The tower is 60m heigh. Its shadow is x metre shorter when the sun’s altitude is 45°
than when it ha been 30°, then x is equal to

1)41.92m 2)43.92m 3) 43m 4) 45.6m
The total surface area of a hemi sphere is how much times the square of its radius
Hn 2) 41t 3)3m 4) 2

The ratio of the volume of a cylinder, a cone, and a sphere , if each has the same
diameter and same height is

1)1:2:3 2)2:1:3 3) 1:3:2 4)3:1:2
Variance of first 20 natural number is

1)32.25 2) 44.25 3) 33.25 4) 30
Which of the following is incorrect

1)P(A) > 1 2)0<PA) <1

3)P(@) =0 4)P(A)+PA) =1
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A right circular cylindrical container of base radius 6¢cm and height 15cm full of
ice-cream. The ice-cream is to be filled in cones of height 9¢cm and base radius 3cm
having a hemispherical cap. Find the number of cones needed to empty the cone.
Find the mean and variance of the first n natural numbers.

Two dice are rolled together. Find the probability of getting a doublet or sum of faces
as 4.

_[3 1 2 _ —
ifA=| | showthat4? —54 + 71, =0
SECTION-D
Answer any one of the following 2x8=16

7
a) Construct a triangle similar to a given triangle PQR with its sides equal to E of the

corresponding sides of the triangle PQR (scale factorg 1)
(or)

b) Draw a circle of diameter 6¢cm from a point P, which is 8cm away from its centre.
Draw two tangents PA and PB to the circle and measure their lengths

a) Draw a graph of xy = 24, x,y > 0. using the graph find
i) y when x=3 ii) x when y=6

(or)
b) Discuss the nature of the solution of x? + x — 12 = 0.
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Model Public Exam / iordlfl Gursis GCsiey — 2022 :
78 5 O
X — MATHEMATICS / menfzb
Time : 3hrs + 15 mins Total Marks : 100
HIeY Sjsney] : 3 wal+15 Biflip MODEL QUESTION PAPER - 18 Gords WG : 100

Note : 1. Check the question paper for fairness of printing. If there is any lack of fairness, inform the Hall
Supervisor immediately.
2. Use Blue or Black ink to write and underline and pencil to draw diagrams.
Siflsyenyseit : 1. oimands elamssepd Ffurs udlards o_sitensr seusmean Ffurishss CETsisna)ib.
aFslusalst Gompullgpldsr ownms seaisranilursmiiib o L anguwns Csfialssan.
2. meolb SisvsudHl SHUL snwwilsnsn WLGEW spHIUSDGL SiRECsTyhashel LWaSTUBSHS
GeuemiBlo. LLMISsT susnfeusBGg GUaiFsd LwsiLBHSab.

Part -1/ugg - I
Note : i) Answer all the questions

ii) Choose the most appropriate answer from the given four alternatives and wnte the option code and
the corresponding answer .
@iy : i) smads olambseps@n alaniwsfssayb
i) OsrBssiuBsien Hra@ olenlselsd s  §HULL milsml_uﬂsmurgs CxHOsHESS!
@It GLe eflsnLulsnemyd Gaiihml s10pHab. _ (14 x1=14)

1. Letn(A) = mand n(B) = n then the total number of non-empty relations that can be defined from A to B is
n(4) = m wppe n(B) = n asiis, A —alpha B -6 aoyupssiulL  Gabm  sendstsons  o_meyserisi
Giorg &  sremant &, :

(A) m" (B) n™ (C2m"n -1 (D) 27

2. Ifthe HCF of 65 and 117 is expressible in the form of 65m — 117, then the value of m s
65 whmwe 117 —ullsh B.Gure —smey 65m — 117 616&[]]3. suigailsh a@@mtﬁun@, m —ullsir wHyY
(A) 4 (B) 2 (C) T (D) 3

3. Ifaand b are two positive integers where a > 0 and b is a factor of a, then HCF of e and b is

a wigd b esiiuen  @m Wens  (Wpaphmst. M, a> 0, b esiug a st gm  sigenfl  seflsd @ whmnbd b
Sp@Elweumpis 15.GLIT.6

(A) b (B) e (C) 3ab (D) %
g 3y-3 % 7y-7 _
¥ 3y
3y-3 . 7y-7
o e ———— TehiLIg) _
9y i 9y? 21y®—azy+21 7(y2-2y+1)
(A= ) e O = D) =—F—

5. The solution of (2x — 1)? = 9 is equal to
(2x — 1)* =9 —uwis giay

(A) -1 _ (B2 (C)-1,2 (D)1
6. Ifin tnangles ABC and EDF . %then they will be similar, when
g = E saisy, ABC wipmgd EDF euGurops sngGardsananuns semouwb?
(A) £B = 2£E (BY2A = 2D (C) 4B = 4D (D) £A = 2£F

7. Ina A ABC, AD is the bisector of ZBAC. If AB = 8 cm, BD = 6 cm and DC = 3 cm.The length of the side AC is
AABCuisv AD eusnml, £BAC-Wisii @mawbsuy. AB =8 Gr.6, BD =6 G wipwDC =3 GF. asisy,

ussn AC-ule Bemb
(A) 6 cm (B) 4 cm (C)3cm (D) 8 cm
8. Ifslope of the line PQ is %then the slope of the perpendicular bisector of PQ is
Garl. pEmem® PO-wsi amiey % siailey, PO-&@ Gongssisn @m o Gsuliguiear Fruey

ORE (B) —V3 ©% (D) 0

- - - — P
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9. A tower is 60 m height. Its shadow is x metres shorter when the sun’s altitude is 45° than wnen it has been
307, then x is equal to
g Gsmursdst 2 wmb 60 1 guEb. @flwensn STemnd sihBSGsTaMD 30" edmha 45 o o wmHDeUTSH)
Garyrdalen Flipsomsns X 6 @smpapal slash X-6i sl
(A) 4192 m (B) 43.92m (C)43m (D) 45.6 m

10.1f (5,7), (3,p) and (6, 6) are collinear then the value of p is
(5,7),(3,p) wipnd (6,6) esiuen g Com_Lenohsemea saflse, p-ulsi whiy
(A)3 (B)6 ()R] (D) 12

11. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter and same height is
Fwowrer ellLw)  oMmb e wrn 2 LW gf 2 GMmel, @@ SHRidly WLepIw @ GCotsnsslsr s
olena&sfla aflalsld

(A)1:2:3 (B)2:1:3 (C)1:3:2 (D)3:1:2
12. If the radius of the base of a cone is tripled and the height is doubled then the volume is
(A) made 6 times (B) made 18 times (C) made 12 times (D) unchanged

@@ Sabllsl SipUUD ST PDILLBIGISOE 2 Wb G WLBSTSaID oMfared &S Jlene| s15H5Hmen
DL BI&TES LmgDh? : .
(@1) 6 wLREG (e1) 18 kg (@) 12 i (7) wnBomisvanso
13. Which of the following is incorrect? L
GETHSEUUL LS 6151 SHoumTelsl? . _ '
(A)P(A) >1 (B)o=PA) =1 (C)P(@)=0 (D) P(‘AI) +PA)=1
14. A fair die is thrown once. The probability of getting a prime (or) composite number is
QM HITeT  USSIL @ (WpeD 2 _GLLUUEBLEUTS SlMLS@GID e, UST  6Iem  SDIU6EI LU  eTeuIsmna
BolusbaTar BHpHEe) -

)1 (B)0 ©: o

Part— II /u@g. - II
Note : Answer any 10. Question No.28 is Compulsory. '
GBIy : eremeuBuignnd 10 sflenTédsEnse W BID el wsfbsa)b.
elenm e16m1 28-H@ SLLTWIOTS SNl UsTSSa|D. (10x2=20)
15. If B x A = {(-2,3), (-2,4),(0,3),(0,4), (3,3), (3,4)} Find A and B.
BxA={(-23),(-24),(03),(04),(3,3),(3,4)} asfled, Awpmib B suflucimhsnns Sreirs.
16. Prove that two consecutive positive integers are always coprime.
abs B ABH5BH5 Wems (WpIpad FTTUST seSsT sl Hinias.

s 2
ni-1
= iniseven,n € N

17.Find ag and a,s whose ntt-term is a; = { **3

n .
s—inis odd,n e N

. _
1 o e s nEN
@p =47 S . P @G N —suE 2miiy safls, ag WwhHpb a5 SHTEHs.
5o 90 @bop aemin €N

18. If the difference be_wéen a number and its reciprocal is 2—;, find the number.
P eenl WBHID SiHed Heaweudy apdsbilen allsBrFD % 6T6MIE0, SiihG SIEHIGNENE &IawS.

. ?2_
19. Subtract : &X+DGE=2) _ (2x?-5x42)
X x—4

(2x+1)(x-2) _ (2x*-5x+2)

B oy )

20. In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each, successive row contains twao
additional seats than its front row. How many seats are there in the last row?
g Haflor ogrdsr (pssh auflenFulst 20 Bmssmssend Gorssn 30 sfimssEnd 2 st JAREEBHS
geubaung suflmsulann siBbEe Wwhwsw sufosouel. Byand BEEmass mBHeTs o aensr. &L
alflaulsh aghsemen @mEmess @msEn?

21. Find the area of the triangle formed by the points (- 10, —4), (—8,~1) and (-3, =5).
HphsemiL Lsiallsemmsy aeossiLGD wEsBareamsder Ly sreis (- 10, —4), (—8, —1) wibpub (—3, —5).

. .3 - ~ - i A
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38. An aeroplane at an altitude of 1800m finds that two boats are sailing towards it in the same direction. The

angles of depression of the boats as observed from the aeroplane are 60° and 30° respectively. Find the
distance between the two boats. (V3 = 1.732)
1800 1§ 2 wpsAsd UBSGL g aloradbssinhs 961 Hmsuisd iﬁ]wm@mg Gﬂmrra‘aaﬁ]é GFsbai @Em UL GHEs
umissUUESnE. sloradssedmhs B uLGsmst wspbw 60 opod 30 SpdssGsreammissish 2 mol
Grradsnms, Erend U-GSansGh BmilulLs CSTensmas Siems. (V’g = 1.732)

39, Ifthe circumference of a conical wooden piece is 484 ¢cm then find its volume when its height is 105 cm.

484 Q7.6 @ppataysiien @ wWrbdmbllea 2 wrb 105 7.8 aeflsh, mblar oo Dlenaad HTEEE.

40. In a box there are 20 non-defective and some defective bulbs. If the probability that a bulb selected at random
from the box found to be defective is %then, find the number of defective bulbs.

@6 Gulpuisd 20 menpurgssins  elsidGsand @i Fa @apurBalw  elledGaend 2 sser.
Gulguledmbo Fosumiiy (pepulsy CHTEEEEEEILBL g clsndEaTerdl GHDBUTREILWSTE BmUUSDETen
sUmLICL Esreﬂsi}, HENBLTHILL ellenSEHEsa senenlEmasmus STeiis.

41. Find the value of K, if the area of a quadrilateral is 28sg.units, whose vertices ai caken in the order
(—4,-2),(-3,k),(3,—2) and (2,3). a

(—4,-2),(—=3,k),(3,—2) wimup (2,3) syPusbamp (penassiras GEramiL [ﬁrrmai[rﬁ;ﬁisﬂ UpilL 28 & .SIe0EES6N
sraiilsy, K-ulsdr wallus Smeis.

42, State and Prove Basic Proportionality Theorem or Thales Theorem.
Slglienl. ell@lBFFio CHHMID SvevH BHsve CHHMHMS a1(psH BDIOE

Part - IV /ugg -

Note : Answer the following questions.

GOty : Useumd sllamssende allanl Waldsa) (Zx8=16)

43. (a) Draw a circle of radius 4.5 cm. Take a point on the circle. Draw the tangent at that point using the alternate
segment theorem. _ '
4.5 LElf aoopsiien sullih suenps. allLbslsi  WHl a8smb g usielldg wibm sl SasiE
Cabphalamall LWHTURSSHE CsTHESNEH UGB,

| (OR)
(b) Construct a triangle APQR such that QR = 5 em, 2P = 30° and the altitude from P to QR is of length 4.2 cm.

QR =5 0@#uf, £P =30° wiph Puwisdmbs OQR&E ssmpuiull eHeHECsriigss Bsmb 4.2 @b
Gaenami APQR  suanyes. e

44, (a) Discuss the nature of sdlutiohs of the following quadratic equation x% + 2x +5 = 0.
LTsitaumLo @@uu;s: ELIJEEI-‘IIJITLI{}GIII Sreymeflein HeTenosnil sueHFULD dpsotb ygmiis x2 + 2x + 5 = 0.
g ' (OR)
(b) Draw the graph ofy = rz + x and hence solve x2 + 1 = 0.
y=x2 4+ x —uler ausmyuLid susnhs, X2+ 1=0 sam swsunamig sjbsab.
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